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QUESTION 1

Which of the following is the correct jack for an Ethernet cable? 

A. DB9 

B. Cat 5 

C. RJ45 

D. DVI 

Correct Answer: C 

 

QUESTION 2

A security administrator is adding accounting features to a web application. Which of the following would be the BEST
action? 

A. Enhance the granularity of user permissions. 

B. Enable an audit log. 

C. Implement smart card login. 

D. Adopt a procedure for adding accounts. 

Correct Answer: B 

 

QUESTION 3

Which of the following is the BEST option for a developer to use when storing the months of a year and when
performance is a key consideration? 

A. Array 

B. Vector 

C. List 

D. String 

Correct Answer: A 

 

QUESTION 4

An administrator has found that a server has become corrupted. Which of the following will allow the administrator to
recover the data? 



A. Server UPS rack 

B. Off-site backups 

C. OS restore disks 

D. Redundant NICs 

Correct Answer: B 

 

QUESTION 5

Which of the following protocols is used to download messages from an email server? 

A. HTTP 

B. IMAP 

C. HTTPS 

D. POP3 

Correct Answer: D 

 

QUESTION 6

Which of the following operating systems do not require extensions on files to execute a program? (Choose two.) 

A. Windows 7 

B. Windows 8 

C. UNIX 

D. Windows Server 2012 

E. Android 

F. Linux 

Correct Answer: CF 

 

QUESTION 7

The Chief Executive Officer (CEO) has received several emails that are missing attachments. Which of the following
concerns is the CEO experiencing? 

A. Eavesdropping 

B. Email service outage 



C. Man-in-the-middle 

D. Denial-of-service 

Correct Answer: C 

 

QUESTION 8

Which of the following CIA triad concerns is violated when known-good computer hard drives and printed documents
are placed in the trash? 

A. Availability 

B. Confidentiality 

C. Integrity 

D. Accounting 

Correct Answer: B 

 

QUESTION 9

A program needs to choose apples, oranges, or bananas based on an input. Which of the following programming
constructs is BEST to use? 

A. Variable 

B. If 

C. Datatype 

D. Comment 

Correct Answer: B 

 

QUESTION 10

Which of the following is the number of bits in 8KB? 

A. 8,000 

B. 16,000 

C. 32,000 

D. 64,000 

Correct Answer: D 

 



QUESTION 11

A software developer develops a software program and writes a document with step-by-step instructions on how to use
the software. The developer wants to ensure no other person or company will publish this document for public use.
Which of the following should the developer use to BEST protect the document? 

A. Patent 

B. Trademark 

C. Watermark 

D. Copyright 

Correct Answer: D 

 

QUESTION 12

Which of the following should have the HIGHEST expectation of privacy? 

A. A picture posted to a social media website 

B. A presentation saved to a corporate file server 

C. A locally stored word processing document 

D. A spreadsheet emailed to a business client 

Correct Answer: C 

private means stored locally and not sent out 
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